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Attempt any one in 1000 words.
(1) Trace the development of computer technology in detail.
OR
(2) Define information technology and describe its concept and
components in detail.

Attempt any one in 1000 words.
(1) What is communication technology? Explain data
communication in detail.
OR
(2) Explain importance and methods of Internet connectivity for
a library.

Attempt any one in 1000 words.

(1) What is Digitization? Describe its process and problems.
OR

(2) Explain digital library initiatives and institutional repositories.

Attempt any two short notes.

(1) What is ISDN? Give examples

(2) Wireless communication

(3) E-documents collection management
(4) Markup languages

Attempt following questions in one or two lines.

(I) How is text to audio and audio to text converted?
(2) How does client server technology function?

(3) State four measures for data security.

(4) What is protocol? State four names.

(5) What is Bulletin Board Service?

(6) How are images edited?

(7) What is port? Name any two ports.
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